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TWO METHODS TO CALCULATE REGULAR STATE FOUNDATION PAYMENTS 

There are two approaches for determining the amount of regular state foundation payments distributed through the 
statement of settlement. 

Percentage Method 
Through this methodology, the payment amount is based on when the payment occurs in the fiscal year. There are 24 
payments in each fiscal year and each payment reflects the passage of a certain portion of the fiscal year. For this 
methodology a ratio is calculated by dividing the payment number by 24. The percentage associated with the payment 
determines the payment amount. 

Remaining Payments of the Year Method 
Through this methodology, the payment amount is based on the remaining number of payments in the fiscal year. 
Whatever the payment balance is at the time of the payment, it is divided by the number of remaining payments in the 
fiscal year, and one installment of that is paid out. 

Payment Calculation Examples 
The two payment methods are used simultaneously, and usually the method selected is whichever generates the higher 
payment amount. Refer to the statement of settlement below.  

Base Cost. The annual amount is $8,770,444.78. The year-to-date prior to payment as of the January #2 payment is $4,750,906.97. 
Using the percentage method, January #2 as the 14th payment of the year gives a payment ratio of 14/24 or 0.5833. So, the district 
should have received 58.33% of the annual amount as of that point in time, which would be $5,115,800.44.  The district has already 
received $4,750,906.97, so considering the difference between the amount paid and the amount that should have been paid by this 
payment ($364,893.47), the district would be brought up to date. 

Remaining Payments of the Year Method. This method generates a payment of $365,412.53 by dividing the balance by the number 
of remaining payments ($4,019,537.81 / 11), which is clearly more than what the Percentage Method yields. So, in this case the 
payment based on the Remaining Payments of the Year would be preferred. 

Formula Transition Supplement. By contrast, the percentage approach generates the higher of the two amounts for the Formula 
Transition Supplement component. Through this methodology, the payment amount comes to $47,582.42 [($296,458.74 X 0.5833) - 
$125,341.96], which is more 
than what the Remaining 
Payments of the Year method 
would generate [$171,116.78 / 
11 = $16,556.07].  

 

Both methodologies 
calculate the same payment 
amounts at the end, but 
there are differences in 
what they yield at different 
points in time, making one 
preferable to the other 
depending on the point in 
time.    
 


